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I1R - I2 (2R)  0 

I3 I4 

I4R - I3 (2R)  0 

I  I1 - I3 

I + I2  I4 

CheckPoint 3a 

I2  ½  I1 

I4  2 I3 

I1 - I3 + ½ I1  2I3 
I1  2I3 

I  +I3 
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I1 I2 
Consider the circuit shown below. Note that this question is not identical to the similar looking one 

you answered in the prelecture. 

Which of the following best describes the current flowing in the blue wire connecting points a and b? 

A.  Positive current flows from a to b B.  Positive current flows from b to a 

C.  No current flows between a and b  
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